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Note : This Question Paper contains Fifty (50) multiple choice questions. Each
question carries Two (2) marks. Attempt All questions.

[Maximum Marks :
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Which one of the following is the

most essential characteristic of

psychological experiment ?

(A) Active manipulation of an
independent variable

(B) Use of complex apparatus and
instruments

(C) Random assignment of subjects
to experimental and control
groups

(D) Statistical control of secondary
variance

The kind of thinking that Gestaltists

emphasize on, is

(A) productive thinking

(B) reproductive thinking

(C) convergent thinking

(D) associative thinking

1.

OIS TANTE ©Telddeh] hIvd
qaiq MEvasE UERTed R ?

(A) a7 URa=l Tehid BIdresv

(B) Gf®vl IUKIOMET F HILHTHT
TR

(C) yraifre anfor fagfsa meraed

| T

ggerirat sifafaga fawmmft

(D) TH YU HEARnteE s

gafseareT=t STl ghHI=AT fa9r

gfspaer R faenm ?

(A) &S (Productive) fa=mufsman
(B) AR (Reproductive) fa=amufsman
(C) HeAafl feremuwfsan

(D) geudcHs fammwtean
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Which of the following personality | 3.

—~

measurement do not have reasoning

gfgHTd HYT HOM Fehyfchad A=
items assessing intelligence ?

YT AR ?
(1) NEO-personality inventory- )
, (1) =hrEe ufor Jeht =l gaia fHef-
Revised, by Costa and
McCrae ferme et
(2) Catell’s 16 PF (2) ®eA I AfFIHE WIS TSH
(3) Edwards personal preference EEEICIC]
schedule (3) UeasH dfadsd THdl WA

(4) Eysenck personality question-

(4) TTHE AfFTHE FIAEE U
naire-revised

(A) (1), (2) and (3)
(B) (2), (3) and (4)
(C) (1), (2) and (4) (C) (1), (2) v (4)

(D) (1), (3) and (4) (D) (1), (3) 3TUT (4)

(A) (1), (2) smfor (3)
(B) (2), (3) i (4)

Anterograde amnesia results

4. ST Hidald Y SHRomqes
from

(A) disorder in the retrieval of gral

information

— =

of (A) wfedi=a gemaAwe fagdl

(B) disorder in the encoding

information

— =

(B) wifedien HehaHTda forgmd

(C) disorder in the decoding of

information (C) wfedr=n fagehaarda fagd
(D) disorder in the analysis of
information (D) wfecr=n foreeremmdre IE@SE“
2
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Osmotic thirst is caused by

(A) an increase in the concentration
of salt in the extracellular fluid

(B) a decrease in the concentration
of salt in the extracellular
fluid

(C) loss of extracellular liquid
resulting in decrease of blood
pressure

(D) psychological state of the
individual initiated by the sight
of water

Top down theories of perception

stress on :

(1) construction of reality beyond
information received

(2) past knowledge, expectations
and stereotypes

(3) richness of information received
by eyes

(4) data
sensation

(A) (2) and (3) only

(B) (1) and (2) only

(C) (3) and (4) only

(D) (1), (2) and (3) only

Which one of the following is an

example of artificially discrete

variable ?

available through

(A) Scores on intelligence test

(B) Sex of the respondent

(C) Examination results in terms of
pass and fail categories

(D) Nationality of the respondent

5.

TWERUE qeM A wRoTge A

B

(A) sAfafa 99ia geamda Hier=
EEEARRICCE)

(B) sfaft 9eita geardia Hiere
HYFIIUd &

(C) sfaftar Tefta gar=an A T
HEIGERSCA

(D) WA SO WY BT

SRl AR 3TaEe

o™ 2 TeA fagra SR R

qad ?

(1) faecer wArfedi=ar afawedl
qreqaret A

(2) gai= ¥M, 3THam § HEeg
ETEI

(3) Siexnisred fHesur=an  wTfedr=
Tggl

(4) IAER H2R wed

(A) ®F (2) 3fur (3)

(B) ®ad (1) 37fur (2)

(C) e (3) 30T (4)

(D) W (1), (2) AT (3)

EATTYht v FHim foem afas

IO 3R ?

(A) Ffgaw FmE=viedia g

(B) S fam

(C) =t emfor sriol amtHed uftdren

BEIGIERCUIERY

(D) SWEATE AT

[P.T.O.
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10.

Which of the following motives are
not largely based on homeostatic

controls ?

(A) Hunger

(B) Thirst

(C) Sex

(D) Sleep

Glial cells are

(A) non-neuronal cells that provide

support and nutrition to

neurons

(B) some of the large neurons in the
human brain

(C) neurons with triangular
soma

(D) non-neuron cells that do not
provide physical support to the
neurons

Monocular determinants of

perceived distance are
(1) Accommodation
(2) Linear perspective
(3) Convergence

(4) Texture gradient
(A) only (1)

(B) only (1) and (3)
(C) only (2) and (4)
(D) only (3) and (4)

10.

(A) Y=
(B) @M
(C) wifits
(D) f=
TAEe Ui &

(A) <Jqmel THled 39N Uf 3mRd
S AT SER ST ey
<ard

(B) Wl Hdiel gl Taid Higdn et
e

(C) Tl <hrem
e

(D) <Jdraefl FHde en Ui WA
JATUIAT SMUR < AR

gafea

HIOTd 7

(1) HIsH

(2) Y@ia geafeyd

(3) 3fee

(4) 99 YeUs

(A) B (1)

(B) W (1) 3mfUr (3)

(C) % (2) A (4)

(D) ® (3) 3T (4)

<argeit

N
S|

A= wHEAIm et
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11.

(Memory Store)

P)

Q
®R)

S)

12.

List I

Match List I with List II
and select the correct answer
using the codes given below the
lists.

List II

(Cause of Retrieval

Failure)
Echoic (1) Inappropriate cues
Short-term (2) Masking
Long-term (3) Inappropriate
articulation
Working (4) Displacement

(5) Dissociation

Codes :

® @ ®
A (2 4) (GO G))
B) (6) 4) 3) (1)
<© O (2) L 6
D) (@) (1) (5) 3)

The sensory nerve that bypass brain
stem and goes directly to the

forebrain is

(A) auditory nerve
(B) optic nerve
(C) olfactory nerve

(D) trigeminal nerve

AUG-132111

11. g=t I 9 gt II =31 9" Sie
arEl 9 foeied Gehamyd drg W
forat.

Tl 1 11

(HfaH=m@) (TATET I

HI0)

(P) wfqes=mems (1) foEma "eha

(Q AUFTRE  (2) ST=SRIH

® ewfas (@) foEma TEEER

(8 R @ o

GIRERISE
Hehd :
®» @ ® O
a @ @ @© ©
B) (6) 4) @ @
< 3 (2) 1) 5)
D) @) (1) ® 3

12. HIERHTE e 9 STMACISRTIE SRS
IS = HIOA ?

(A) &au =l
(B) = =
(QRCEHEERET
(D) TSI =

[P.T.O.
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13.

(Measure)

P)

Q
®R)

S

14.

List I

Match List I with List 1II
and select the correct answer
from the codes given below.
List II
(Subscale)
EPQ-R (1) Affiliation
NEO-PI-R (2) Lie Scale
Edwards Personal (3) High Ergic
Preference Tension
Schedule
16PF
Codes :
P Q@ ® O
A (2 (1) 4) 3
B) O (D 4) (2
C @ 3) (D))
D) (@) 4) o 3

Reaction formation refers to

(4) Conscientiousness

(A) the unconscious reproduction of
one’s self upon other
person’s self to avoid difficult
impulses

(B) converting dangerous,

painful unconscious impulses

into their opposite
impulses

(C) transformation of negative
emotions or instincts into
socially acceptable actions
behaviour or emotions

the target

of once own wunconscious

(D) changing

impulses

13.

(P)

Q
®R)

S)

14.

AUG-132111

gt 1 efor g=t 11 Ir=a1 sire=n
ArEl S AR IW TTeld HhargaR
IREELS

T T T 1

(aTa) (IuHTT)
EPQR (1) G
NEO-PI.R 2 3Ta HIYAT
Uede d¥fdase  (3) 3= Wi dUld
qEdT g
16PF 4) HIHRTSETH
Hehd :

) @ @®

A (2) 1) 4) 3)
B) Q) 1) 4) (2)
< @ 3) (1) (2)
D) (2) (4) (1) 3)
qafshal TSU TEUS

(A) 3TIHE ST @IS ST
WA W A Afda=al @ Tl
ElCu|

(B) 9SS d ENHhIgIas AT

HL0
(C) ®UMHE HEal &  Hesyg«l

FIAT |rETTSIE g STEATl
I, 94 9 FHdl T TEdd
BTl

(D) TEA:=AT AT ATFATE AL

FEA

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

15. According to Gardner’s theory of
multiple intelligences, which of the
following are distinct types of

AUG-132111

15. M= ‘ag-gfeaw’ fagiar yEmo
WY IV FfGHT TS TR
aed 2

intelligence ? (1) ‘forpfes’ giemm
(1) Linguistic intelligence (2) Hitd fawae SffgH
(2) Musical intelligence (3) 4|R—|&q-1 gi:sq-m
(3) Kinesthetic intelligence o gfgmn
(4) Creative intelligence Eji)) (ﬂl)ﬁlﬁ(m afor (4)
(A) (1), (2) and (4) B) (2)’ 3) ST (4)
(B) (2), (3) and (4) ’ .
(C) (1), (3) and (4) (C) (D), (3) 3ivT (4)
(D) (1), (2) and (3) D) (1), (2) 37 (3)
16. Match List I with List II | 14, gt 19 gt 1 Befied Siesn ofen 4
and select the correct answer - ‘s
using the codes given below the acfie Hehd ATTET A I e
lists. Tt 1 T 1
List I List 1II (ﬁm gﬁaaﬁ:[) (WT)
(Theoretical (Explanation) "
Views) ®) 313%1313 (1) HAdleT eheyHl
(P) Empiricism (1) Mind has innate SUSIA SHHATd
ideas Q e gy ) 'EIW HagA
(@ PDP model (2) Perception is W?’ﬁ'gﬁ-ﬂaﬂﬁ
computed by brains .
perceptual system | _@ﬁ
(R) Nativism (3) Recognition occurs | (R) SYIdAE 3) Hafd TedhTer
as a result of the T E R IE T
simultaneous .
operation of . _E‘ﬂﬁ Gaﬂ_"[ _@ﬁ
connected units ®) HHEHS 4) "1 Tehl F
(S)  Constructivist (4) Mind is a blank qREERE A
state on which ST A TR
experiences with =3
the world leave its .
markings Hehd :
Codesar)) @ ® © ®» @ ® ©®
A @ 3) 1) 2) A) @) 3) (1) (2)
(B) (4) (2) 1 (3) B) @) (2) n 3
< O (1) (4) (2) < O (1) 4) (2)
O @ @ @ @ ™ O @ @ @
[P.T.O.
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17. Match List I with List IT and select
the right answer from codes given

below.
List I
(Theory)
(P) James Lange

(Q Cannon & Bard (2)

(R) Schacter & Singer (3)

(S Ekman

Codes :

(A) (P)-(4)
(B) (P)-(1)
(C) (P)-(3)
D) (P)-(2)

List II
(Statements)
(1) The autonomic raw
materials may not
allow themselves
to be shaped into
virtually any
emotional
experience
The visceral
experiences are not
sufficient condition
for emotional
experiences
Autonomic arousal
will provide only
the raw material
for emotional
experience
(4) The subjective
experience of
emotion is
Sin-qua-non of
the awareness of
our own bodily

changes

Q-(2) (R)-(3) (S)-(1)
@-2) (R)-3) (S)-4)
@-4) (R)-(1) (S)-(2)
(Q-1) (R)-(4) (S)-3)

17. g=i 1 sufor g=i 11 =i=ar |

AUG-132111

ATEl WTeiel Gehd a1a%d Ivd 3%

IREELS
T T
(fagia)
(P) SIEH-TT

Q HIA-918

R) YE-TOR

S TRHA

Hehd

A) (P)-4)
(B) (P)-(1)
(C) (P)-(3)
D) (P)-(2)

et 1
(faram)

(1) WEd 9E=El
Ut T

= arfaehqu]

RIS W
FAYETN 3T
FE AR ATE
2) WE=A1 STVare!
A STHE
g fafa =@
(3) WE=AT STVaRIS!
W g9
ECRERR T
EICIECARER
(TERT) 3=
(4) I HATFATT
I AT
BURilEED
QREdATAT SIS
Head S

@-2) R)-B) -1
@-2) R)-3) 5)-4)
Q-4) R)-1) (S)-(2)
Q-1 (R)»-4) (S)-3)
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18.

19.

The reciprocal determinism of social-

cognitive personality theory of

Bandura asserts that

(A) environment causes behaviour
and personality

(B) environment causes behaviour
and behaviour shapes
personality

(C) personality develops as a
function of splitting of self from
environment

(D) internal personal factors,
environment and behaviour
cause each other

Mohan’s heart is racing because he
just ran 5 kms. According to the
cognitive labelling theory which of
the following reasons can be assigned
if Mohan does not feel any
emotion ?

(1) He knows that arousal stems
from the exercise.

(2) He does not have satisfactory
explanation for why his heart
is racing.

(3) He knows that his heart will
rapidly return to its normal
state as he stops running.

(4) He is too tired to think about

anything.

(2) and (4)

(1) and (3)

(1), (2) and (4)

(1), (2) and (3)

(A)
(B)
(C)
(D)

18.

19.

AUG-13211/1
= g s fagrar ar
A FaaaER wus

(A) T 3T i Iiee & I
3R

(B) UfEer SdAMe 0T 37 S0 &
AfFarcTe Fefad

(C) @A ReemuRA faursH= goar
HAfarcarn fowmE 8

(D) 3T EIECN)
arfor ada THAHRTIT I
h{dld

HiETd 839 e YSHed 37 SRl

q qohara 5 fordl. HTeA Aol 3Te. SK]

HIEe hIvIda! WAl STHYE 3d T4

W FEATEE ddran fggrarggre

TeATedeh! ShIOTd ROl odl I ?

(1) el AfEd 378 i SIS SHR&H
IZHI.

(2) @™ TQI F wEd AR ITH
ATAThS HIVdel THIEHERS
TISIRT T

(3) T HAfgd 3T 1 Y ql e
e TY T 28T STeaTTdi 9=
ST T Il

(4) HTERT TMfEEd four Hoam

@ TGO Y 3.

(2) e (4)

(1) =for (3)

(1), (2) 3fur (4)

(1), (2) = (3)

HfFTTd T,

(A)
(B)
(&)
(D)

[P.T.O.
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AUG-132111

20. Retina registers dimensions of 20. ST ol AI”E”EH A B ?
(A) depth and width (A) =T 30T Bl
(B) length and width (B) orel awfor way
(C) length and depth (C) st awfor s
(D) length, depth and width (D) e, a3 we
21. Which one of the following attitude it aqﬁgﬁf SO Tt
scaling methods was not pli%posed by 21. eICT STl A HTErAT 95E jﬂlﬁj
L.L. Thurstone ? A5l el SR AR hell TRl
(A) Paired comparison (A) I qer
(B) Scalogram (B) H=&l AToHT
(C) Equal appearing intervals (C) TYeefl I
(D) Successive intervals (D) aaaﬁ"f FTATAR
22. ‘Location’, in relation to Rorschach | 92 Jvif wr=vi=n deyia ‘<irpym’ oM
test, is concerned with Heea o ?
(A) Colour/Movement (A) T/ge=Td
(B) Whole/Part (B) qui/afw
(C) Figure/Space (C) 3T/ ST
(D) Fantasy/Emotion (D) FETA/ AT
23. Match List I with List IT and select 23 'ﬂ\?ﬁ I3 W 11 aete] ST o 9
the correct answer from codes given C Eele §®d 3r9sd Fivg 3wt
below. [
List I List II
(Terms) (Explanation) -?%?g-r)l (m-{:gaﬁﬁwllm)

(P) Concepts (1) Mental representsfltlons‘ P)  THeTA] (1) At Tifafafes wie
that express relationship st fafay geeqar=n
between concepts, can WHTM WWUT
be true or false Fd 9 T 91 DRl S

(Q@ Images (2) Categories of objects, @ PIGEI @) d{-ci\‘;-‘-\l, PECIEiC| q,,,:,qﬂi.a
events or ideas with OmE= W e
common properties e

(R)  Proposition (3) Mental representation of ® faum 3)TH Ofed=ar AHfas
visual information gfaqr

(S)  Schemas (4) Set of proposition that S oTHdE" @ faurm=r 99
create generalization and =R 9 fafay
expectations about EGIS] I&], S,
categories of objects, T2 9 i e fauEy
places, events and people e fAEi & <@r

Codes : qhd
@P) Q ® ©®) @) Q ® )
@ 2 @ @O @ a @ & @O @
B) (@ (1) Q) @ B) (2 (1) 3 @
(SINE) (2) 4) (D C) 3 (2) 4 @
D) 1) 4) (2) (3) (D) (@ (4) (2) 3)
10
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AUG-132111

~ = [a} = ~ Lo aY
24. WlellcdUsh] ShIOA] ATEAT AT O]

24. Which of the following non-
parametric test has nearest WML HIEAFHA W=ed S-ar=oie Jaid
equivalent power efficiency with W@ A e ?
that of parametric ¢-test ? (A) W-=heft 32w
(A) Mann-Whitney U-test .
Y (B) e ==l
(B) Median test
. (C) SEhal-dfeird ==
(C) Kruskal Wallis test
(D) Sign test (D) |
25. The children who exhibit overall | 25 a7t @ AT 9fs EECINEIRIN
retarded intellectual functioning but AR Heed foqd wig St ufes wfa
demonstrate prodigious rote STTfOT/feRa T eTdTETEd STelsheR gfaa
memories and/or calculating abilities St e g e
are referred to as . ,
(A) ‘Rorfie’ (fre)
(A) ‘Gifted’ children
+ ﬁw# s%—qz WUE
(B) ‘Idiot Savant’ (B) Té ( )
(C) ‘Delinquent’ children (C) ‘e’ A
(D) ‘Superior’ children (D) ‘g’ (guEr) qd
26. Application of a principle learned in | 26. TH = IHA FHAA ATRAA I
one problem solving situation to the T T Ore Il FIEHAT A AT
solution of another problem is -
called. )
o (A) IFT&T0T-HehHoT TEUTATd
(A) transfer of training
(B) transposition (B)
(C) insight learning (C) TG~ 217 UMM
(D) cognitive restructuring (D) dufFe g=A =
11 [P.T.O.
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27. The theory of emotion that states 27. 1 S ST ¥ W 1 AT
that the cognitive appraisal mediates HeHTeh SETeh o T SEqehte Tl S
between the stimulus and the wfaferan ame Fegeet = @ (fagm@)
emotional response to that stimulus N wfaafed Sem R ?
is proposed by A) =i
(A) Darwin

(B) =4
(B) Cannon
(C) Lazarus (C) <
(D) James Lange (D) SE-om

28. Retroactive interference is a special | 28. W&ﬁ eE © faftre v (1)
(A) positive transfer (B) F G R
(B) negative transfer .

(C) YA THAU TR
(C) zero transfer
(D) transposition phenomenon (D) TR FA T

29. What is the correct sequence of | 29 S Ffeha ST e ST
thought, after sensory system takes faar ufsha=n I ®H HI0A ?
in information from the world ? (1) fEa w0
(2) Decide N -

(3) THLE[RIT h{Ul

(3) Elaborate
(4) Plan @) F
(5) Describe (5) A FT
A) (), (3), (2), (1), (4) A) (5), 3), (2), (1), (4)
(B) (6), (2), (1), (3), (4) B) %), (2), (1), 3), (4)
(€} (8, 3), (2), @), (1) ©) (), 3), @), @, (1)
D) ), (2), (5), (3), (1
D) (), @), ©), @), (1) D) (4), (2), (5), (3), (1)

12
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30.

31.

Gestalt principles are applicable
to
(A) two-dimensional drawings more
than three-dimensional objects
(B) two-dimensional drawings and
equally to three-dimensional
objects

three-dimensional objects more
than to two-dimensional drawings
two-dimensional and three-
dimensional drawings
Passage for linked items (Q. Nos. 31
to 33) :

Read the following paragraph and
answer the three questions given
below.

(C)

(D)

While playing in the garden a child
saw a football. She kicked the ball.
After hitting the ball, she noticed
some unusual movement in nearby
bushes. Suspecting a danger, she got
anxious and scared. Her palpitations
and sweating increased. Suddenly,
her pet puppy came out of the bushes
and she immediately felt extremely
relieved.

Which one of the following systems
was carrying the sensory signal of
spotting a football to the CNS ?
(A) Afferent nerves of somatic
nervous system

(B) Efferent nerves of somatic
nervous system

(C) Afferent nerves of autonomic
nervous system

(D) Efferent nerves of autonomic
nervous system

30.

31.

ATl q BIATadsh! HIMA @R

Bl ?

(A) fafadra awqdan
FTFT

(B) fgfirdia strepean & ffada awq <
R JHIO

(C) fgfadra  erpreaiven  fHfadi=
LT

(D) fgfada a ffad st

e %. 311 33 : Weldl 9i=ss argA

R dF WeAE SO

ALY Wedd 3TFAHT HefTell Tk Fedra

fefaeta

fege. I SicTel <e ARe. sl ARG

IS =~ ~ LN L
[acdl RISTiIel gebld <hiol ollcl SELS

SToreret. Hiees faen foar | fydt
gree. fadt gsus 9 9 aedl. 3=HS,
e ueda A dieq FSUNA
IRY A ¥ faar @=w U,
e

Fedlel UIfgedral agfTeh Hehd BIeiierden]

>

-

FHIVFT TIUT FHoT oI FHS
Jer ?
SO SarEsd= tferer =

(A)

(B) hifsh Qe STUdmEl <l

(C) W@I™ JareEe=n JfErEr =«

(D) WEd HoaTEEI= Aqarer =dl

13

[P.T.O.
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32.

33.

Question Nos. 34 to 37 :

Which of the following systems got
activated when the girl was anxious
and scared ?

(A) parasympathetic nervous
system
(B) sympathetic nervous system

(C) afferent nerves of autonomic
nervous system
(D) somatic nervous system
Which of the following system got
activated when the girl felt
relieved ?
(A) Parasympathetic
system
(B) Sympathetic nervous system
(C) Afferent nerves of autonomic
nervous system
(D) Somatic nervous system
In the
following questions, each
question has two statements—
Assertion (A) and Reason (R).
Read each question carefully
and decide whether Assertion
and Reason are individually
correct or not, and if they are
correct, whether the Reason is
a valid explanation of the
Assertion. For each question,
before the corresponding
question number, indicate your
answer using the following
codes :
Both A and R are true and R
is the correct explanation of A
Both A and R are true but R
is not the correct explanation
(C) A is true but R is false

(D) A is false but R is true

nervous

(A)

(B)

32.

33.

AUG-13211/1

Heften o & it amecamer shiowT T

wEEG B 2

(A) TUTHYT =ArEE

(B) 3Thdl =areen

(C) @@ HoenEEr  SifErdr
=

(D) g < HEe

Hefen o d1eel degl SIvRd e FwEff-ad

Bl ?

(A) TUTHYT =ArEE

(B) 3Thdl =dreen

(C) W TouEedE  SffiEer
=l
(D) wIfeh <SarEEe

U9 oh, 34 9 37 : WA YAHE Y&

YA S 9 3Ted—Ush Y
(Assertion or A) d <RI
(Reason or R). 9dd& YA
FlessiTgash aral. faum efor SR
TEAAT] TG 3ATed bl A6l o 34,
anfor f SeR 3l R HRI B
faumma ganed TRl 38 T d
a1 YIS YIS A ARy
U HIRTIHAR WTelTd Tehdd aTded
el 3L S

faum™ (A) 9 SR (R) el 9 3ATed
g &I (R) § faumm ==
TR 3R

fa4m (A) 9 R (R) =1 9 3Ted
% FHRU (R) © S TIHI0

(A)

(B)

faum (A) 99 3 T FRU (R)
TF 3
faum (A) 9% R 99 FRU (R)
g 3TE

()

(D)
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34. Assertion (A) : Collection of data .
. . 34. faum (A) e Gehod ST A9
and information
from natural
. . qRERId Aifed! & &t
environment 1s a
component of field ST O S,
study.
Reason (R) :  Secondary variance FTT (R) e STETEE =
can wusually be
very efficiently 0T HEAAT =00
controlled in field
studies. H Id.
35. Assertion (A) : The correlation 35. f9H (A) W T Wﬂm
between intelli- ..
. AMY TG S HeHaH
gence and creati-
vity is very high. . sfn
CIE| @I@H\"II qaqsilaaa
Reason (R) : Intelligence and (R) .
. EIPEIED JrdrEn
creativity involve
cognitive abilities .

36. Assertion (A) : The time taken to 36. faum (A) : srTumTfars® @:U'ﬁ?[\:[
retrieve an item TEE Seh T
from STM is FIAAT AT ezl
linearly related to P - IR
the number of items )

. . JqcTsY THT-] ¥ZhT=A1
available in the
STM. TEIYT [T oY 379l
Reason (R) :  Retrieval of FRU (R) :  eURIfase TS
information from qifgdi=a1  9eITTIATd
the STM involves a .~ .
SAlA4d HHIAR Qﬁtll‘ﬂl
random parallel
search. TSR] ST
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